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Question No. 16

The function f(x) = x> +6x +
f)=(x+3)7-1
f)=(x=3)1

fi=(—3)7+1
f)=C+ 32 +1

8 is equivalent 10
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Question:
If a function f(x) has an inverse function and f( 2)=11, then
Options:
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Question No. 2

Write x <—4 orx> 4 in interval notation

! 6%, -4] U (4, )
' (e, —4) U4, )
(-4, 4]
[-4.4)
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Question No. 8
The domainof f(x)=

0, 2)w (-2,)

—2) (2. 00)
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Question No. 10

The siopes of two parallel lines are

@0

& equal
different
undefined
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x3—17

ision G
x—2

The quot'xem of the AV 18’

_\‘3+2x+3
x’~‘+2x+4 @

x“—‘+2x'+2

x3+‘2.\'+5
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Question No. 16

The function f(x) = x> +6x +
f)=(x+3)7-1
f)=(x=3)1

fi=(—3)7+1
f)=C+ 32 +1

8 is equivalent 10
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Question No. 12

Find (f o g) (%) , where f(x) = x*
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Question No. 25

of f(-")

[heinverse




| Question No. &

If () =x" —1 then f(a—1)=

| ® (a—2)a* ~3a+3)
W a—Va® —a+1
D@23t —3a+3)
W (@~ 2)a® -3a+3)
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Question No. 16

The function f(x) = 2(x—3)?

® f(x)=2x*—12x+ 15

@ f(x)=2x*—12x+ 6 @

@ f(x)=2x*—12x—21

@ f(x)=2x>—6x+15
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i ﬁf(x)zxj—l then f(a—'l):

| @ (a—2)(a® —3a+3)
® (a—2a* —a+1)
® (@ —2°)@® —3a+3)

@ (a—-2)(a’ -3a+3)
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i ﬁf(x)zxj—l then f(a—'l):

| @ (a—2)(a® —3a+3)
® (a—2a* —a+1)
® (@ —2°)@® —3a+3)

@ (a—-2)(a’ -3a+3)
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+ 2x —1 then f(a+ b

if f(x)=3x
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[ Question No. 13

is» . Find the quotientof f(x) and g(x).

If fix)= 3 and g(x)= -
x=2 b
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Question No. 11

The slope of the Vertical line that passes through the point (3.2) is

=

undefined
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Question No. 3

The solution of 4x2 < 20 + 11x is

5

L) =
(-4 3)

(.—'7:, - ) U (4, x)

4 .

(—oo, — 4)uU G ; f)
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Question No. 15

Find

f(x)=—x“—8x—20
f(x) = —3x% + 8x + 20
f(x)=x*+8x—4

f(x)=—x*+4x—4
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Question No. 16

The function f(x) = x> +6x +
f)=(x+3)7-1
f)=(x=3)1

fi=(—3)7+1
f)=C+ 32 +1

8 is equivalent 10
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The solutionset of the following equation: 2 —,10-‘ ~ \/5-, =3 is
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Question No. 13

IfA —; and g(x) - Determine the domain of the sumof f(x) and gfx).

X € (—o0, w)

™ xe (= -5u(s, 2) i 2, =)

=

x & (oo, —5) W (2, o)

xe (5.2
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Question No. 16

The function f(x) = x> +6x +
f)=(x+3)7-1
f)=(x=3)1

fi=(—3)7+1
f)=C+ 32 +1

8 is equivalent 10
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Quest'\on No. 20
x3—17

ision G
x—2

The quot'xem of the AV 18’
X2+ 2xF 3
K24 2xF 4

x“—‘+2x'+2

x3+‘2.\'+5
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(—rcmJ or::)
@ =
(-3"3)
(=%, —3) U (3,)
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Question No. 13

If fix)= ;j—z and g(x) = 1%5 Find the difference of f(x) and g(x)

o=

(x=2)(x+5)

LA,
X=17

-x+7

|,\'~.’.m
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Question No. 13

If fix)= ;j—z and g(x) = 1%5 Find the difference of f(x) and g(x)

o=

(x=2)(x+5)

LA,
X=17

-x+7

|,\'~.’.m
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8

Find f(x) - g(x) ,if f(x)

— . §(x)

8x2~5x+4
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Question No. 13

If fix)= ;j—z and g(x) = 1%5 Find the difference of f(x) and g(x)

o=

(x=2)(x+5)

LA,
X=17

-x+7

|,\'~.’.m
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Question No. 13

If fx) : : : and g(x) ’:—g . Find the difference of f(x) and g(x)

X

-X+3

o= e

1

8= ——
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Question No. 1

Solve this quadratic inequality x*—x— 20> 0
(—4.,5)
(—5.4)
(—00,-5) U (4, )

(—00,—4) U (5, 00)
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Question No. 1

Solve this quadratic inequality x% — x — 20 >

(=4.5)
(—5.4)
(—00,-5) U (4, )

(—00,—4) U (5, 00)
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Question No. 1

Solve this quadratic inequality x% — x — 20 >

(=4.5)
(—5.4)
(—00,-5) U (4, )

(—00,—4) U (5, 00)
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Question ng 3

Determine the solution el of the §

tollowing inequatiry
1<-442xr <10
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Question No. 25

Theinverseof f(x)=3x+2is

fﬂm=%U+m

f*@o=—§u+z>




Question No. 2

Solve -3(x+4)+2x<6

@ (18,]
(—c0,—18]
(—,—18)
(—18,0)
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Determine the solutiop set of the

Tollowing. inequafiy,
1- 3y
=x+8

2
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. Question No. 16

The axis of the graph of £(x) — x% — x + 1is

e
¥ 2




‘ Question No. 23

The domain ar the Inverse of F=( (-6.2) (1.0), (4 12), (-1 aNis
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Question No. 15
| What is the equivalent equation of x% — 6x + 2 = 0 by completing the square?
@ x—6)2+2—0
@ x—3)*—11—0
-3 —-7=0
@ x+3)—-11=0

=

[ e i R



Rama
Sticky Note
C




Rama
Sticky Note
A


‘Mnm.c } 1311
i ﬁf(x)zxj—l then f(a—'l):

| @ (a—2)(a® —3a+3)
® (a—2a* —a+1)
® (@ —2°)@® —3a+3)

@ (a—-2)(a’ -3a+3)




The Solution set of |2x| — 18 > —12 1s

(—oo, )
9
(-3.3)
(=92, =3) U (3,0)
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Question No. 4

The solution set of the following equation: | 16— 5x |—2 =3 -

=
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Question No. 20

3

) x>—5

The quotient of the division 2
=

- 1s:

x>+ 3x+8
> +3x+9
2 +3x+7

x> +3x+6
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' Question No. 7

I fx)=(x— 1)’ then f('a3) =

6
a +a+2
" "
a’-2ir +1
a +2a-1

3a® + 2a—1




Question No. 9

Give the y-intercept of the line -5x+y =- 3
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| Question No. 5

The Solution set of |2x| — 18 > —12 is

(—OOJ Oo)

)

('3~3)

(=9, -3)U (3,)




Question No. 3

The solution of 4x2 < 20 + 11x is

9 o
4

(.—'7:, - ) U (4, x)

4 .

(—oo, — 4)uU G ; f)
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' The domain of [ (x)= AM2x+1 is

O (—x,x) @

O (-05x)
(——:}C:—B) U (—3: 1)

[-0.5 x)
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RS

' The domain of [ (x)= AM2x+1 is

O (—o0,x)
O (0.5
(—o-3)u (—31)

[-0.5 x)
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Question No. 15

Find

f(x)=—x“—8x—20
f(x) = —3x% + 8x + 20
f(x)=x*+8x—4

f(x)=—x*+4x—4




Question No. 19

Give the y-:mercept of the line y-x=

0
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Question No. 11

Which e

raph has a positive

slope?
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RS

' The domain of [ (x)= AM2x+1 is

O (—o0,x)
O (0.5
(—o-3)u (—31)

[-0.5 x)
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Question No. &

i J(x)
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Question No. 18

The quotient of the division (x2 + 3x2 — 4 +1)+(x+2) is

X2 —x—3
x2 —x+3
X2 +x—3

X% +x+3
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Question No. 18

The quotient of the division (x2 + 3x2 — 4 +1)+(x+2) is

X2 —x—3
x2 —x+3
X2 +x—3

X% +x+3
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Question No. 19

If f(x) is a polynomial such that £(1)

6 then the remainder of the division
f(x)+(x—1) equals:
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Question No. 19

If f(x) is a polynomial such that £(1)

6 then the remainder of the division
f(x)+(x—1) equals:
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Question No. 1

and its y-intercepts 15/

The slope of a linear function is 3
Which graph represents this function?
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Question No. 24

Which of the following functions is not one-to-one
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question No. 2
Determin® the solution set of the following
§ < 44 2X 10




Question No. 24
on

nverse functi

a one-to-0ne function, then g(x) is the 1

Let f(x) be

(fog)x) =* only
x and (89 Nx) # X @

(fog )(x ) #

(fogXx) #* only

(fog)(x) =X and (gof Nx) X

of f(X) if
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The inverse of f (x)=

e
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it f(x)
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Question No. 1

The slope of a linear function is 3 and its y-intercepts is —2

is function?

Which graph represents th
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Question NO. 14

35— 5. Find h(x) (g

If fix) Jx+ 2 andg(x)

h(x) = 33x-1
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ge of the function f (X )
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Find the domam and the ran
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Question No. 11

\Write the equation of the line passes through (-5.6), and prependicular to the line x = -2

=
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Question No. 15

Identify the vertex and the y-intercept of the graph of the function y = 3(x + 2)? — 5

J vertex:(2,5); y-intercept: 12
) vertex: (2,-5) y-intercept: 7
) vertex:(-2,5); y-intercept: -

vertex:(-2,-5); y-intercept



Rama
Sticky Note
D


MKCL OES

Question No. 5

['he Solution set «
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Question No. 11

Write the equation of the line passes through (-5,6), and prependicular to the line x =
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Question:
If a function f(x) has an inverse function and f( 2)=11, then

Options:

°ran =
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Solve 6 < x —

B<x

<

16
16

< 20

12
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ffx-4isa factor of the po\\jnom\
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Question No. 2

Write x <—4 orx> 4 in interval notation

¥ (o0,-4] U (4, )

' (0. —4) U4, )
(' 4': 4]

[-4.4) @
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ision G
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X2+ 2xF 3
K24 2xF 4

x“—‘+2x'+2

x3+‘2.\'+5
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RS

' The domain of [ (x)= AM2x+1 is

O (—o0,x)
O (0.5
(—o-3)u (—31)

[-0.5 x)
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If f(x) sa potymmml such that f(2) 3 thenthe remainder of the division

2) equals:

flx) = [
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“ Question No. 16

The axis of the graph of £(x) — ¥? — x + 1 is
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Question No. 4

The solution set of the following equation: | 16— 5x |—2 =3

O
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Question No. 10

The siopes of two parallel lines are

@0

& equal
different
undefined
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Question No. 16

The function f(x) = x> +6x +
f)=(x+3)7-1
f)=(x=3)1

fi=(—3)7+1
f)=C+ 32 +1

8 is equivalent 10
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Question No. 13

Hfix)= 2 andg(x) = % FPindthesumof f(x)andg(x).
§ o S 5

X+

-

e
(f+ g)x)=
X+2
'+ g)x)= i
U ‘( ) Ix=2 ) x+=5)
. o Py —13
R ENS) T

(f+ g)x)=
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Question No. 4

The solution sel of the following equation’|8 - 6X|
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Question No. 20

If ‘a’ is a real number then the remainder of the din

(32 +ax?+x+2)+-(x—1)1s




L L 1 &) ilvy =
| © mobily = @ 17% 4

Question No. 17

The graph of f (x)

wo x-Intercepls
Nine x-intercepts
No x-intercepl

One x-intercep!
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Question No. 23
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vertical |i
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Question No.

Compnte the product Hix)=(p-g)\x)

r
]
Jx -4 .\
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Question Nc. 19

If f(x)is apolynomial such that [(H)

flx)+ (X 5) equals:
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Question No 2

| . n set of the following inequality
Netermine the solution set Ol he followimn; ]

4<—412x<10
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Question No. 18

The remainder of thedivision (¥t 1 x“ 1 x +2)+= (2
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Question No. 21

" 2482 tacior of the poynaal fx) then

" (-4 -0
Jl0) = — 4
f(4) =0
f0) =4
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Question No. 23

which of the ollowing functions 1s not cne-fo ane
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Question No. 3
Solve x° + 6x < 7
% >
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Question No. 18

[he quotient of the division (x* + 317
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, Question No. 17

Ihe graphof f{x) - 2

AN




®eee0 Mobily - < 4:51 PM @ 52% W )

@ drive.google.com e

IMG-20170425-WA1192.jpg & -

Question No. 16

Wit is the equation of the quadratic functiony = x* + 24x+ 29 m vertex form?

(x4 12)? 115
y=(x—12) 115
(x— 12 —173

V (x } 12} 173
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Question No. 25

"~ R

o o YE—S
The inverseof [(x) = * T

'
e

® ) =(2x15)

' -l l
= 3(_21 +3)

| » <1
J (x)=(2x+ 5y

[ (x)=32x+5)
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Question No. 1

Express this inequality in interval notation x > 2

) (—ao, 2)
(2, )
(2,00]

| [2,00)
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Question No. 4

The solutionset of the followingequation:| 16 —5x |~2 =3 s

i,'»t 3]
|575]
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Question No. 24

he inverseol S\ \)




# (B0 /0 X @ Uo £:80 %= SIM sag ¥

C a drive.google.com

IMG-201 ... 072.jpg &a =

Question No. 12

If f(x) =x>+6and glx) = \:—8 find(ge )(—7)




®ee00 mobily = 2:50 AM @ 34% W )

& drive.google.com c

IMG-20170425-WA1101.jpg ad -

Question NO. §

he Soluton set of
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‘Question No. 7

— e =

| If f(x)=— J2x then fix) is

@ decreasing




' Question No. 7

If f(x)=— J2x then f{&) is

O decreasing
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a

SNAPCHAT

“T Yzdoo

o




000" STC = 2:33 PM 55% M

( Ghaida'a logmani All Madis

4/25/17, 12:50 PM

Question No. 7

if f(x)=—\2 then fix) 18

jecreasing
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Question No. 23

The range of the Inverse of G = { (-1,0), (0,9), (8,6), (-9,5)} Is

|
| |
@ (1,089}
® (-1,0,5,-9)
'@ (1,0,8,-9)
® (1,1,8,-9)
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Question No. 140
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Question No. 20

If ‘a’ is a real number then the remainder of the div

(P+ax?+x+2)+(x—1)is:
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Question No. 6

If flx) ir° +2x 1 then f(a+l)

3a +8a+4
; .

a +2a -1

a 2(‘1 i

3" +2a-1
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Question No. 24

Which :‘f the fnlll(:\u'.”‘u funclions Is not l_‘”t".t(‘}- one

f(x)= +81-x*
f(\ ) =8+ 16x
f(x)=-2x+5

) =X
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Question No. 5

The Soltion set of |[7x — 8| +8<1 B

(=s)v (G =)

)
= -)
(=,2)
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Guesion NO 3

The solution of 4x° <
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No. 15

4 The aguaton of the quadratic function that has 3 verne
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No. 12

Find f(x) + g(x) and its domain. where f(x) =4x+7 and g(x) = 5x




N No. 10

The equation ofthe given line is
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No. 7

Yo then i{x) 8

NOU defined
"\(‘I(\l\!.“.j

L Constant
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'ﬂn function fi%) 1s constant

,W!,# Xastham f(x,)
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Question No_ 4

S0lve -10|x+3]

8







| Question No. 2

Determine the solution set of the following inequality

!




fx) is a poiyno
als 10 then

b
B =10

10) = 4

sn) g







e b et T
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The Solution set of H? + 8:!([ > —20-18.
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The sinE of a linear function w its y-intercepts is —2.
Which graph represents this function?

¥ 4
| 2 .I!' 1 1 - 3

-
i

M ’T v
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Q'ue’stion No. 26

'Let f (x) be a one-to Dne functlon then g(x) 15 the mverse ﬁmctmn of (%) lf
0 (ﬁ)g)(x) =X only L .

o (fog)(t) # X and (gof)(t)lqéf Wl e
| ®Aog)(x)= x and (8o ) =x i
| © (Pog)(x) # ¥ onty |
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wmcn of, lhe followmg functmns IS one-to-one

i,
ki gy,

b TN -

iy | \ i
i S(x) =16 - x2 J‘b ’J |

o (X)) =-2x+5 [ o= A

| | @ fx)=5%2_1 P g




Question No. 9

The quotient 3— can be written as B

} | _;E\j
.; l‘% 2 (N . A o8

——

| i -1

" 4
& 2
— — R
R ¥ e ey .
&
&
_ ' = 9,
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Scanned by CamScanner

3 ur



Question Nu 18

e ——— ey

d‘f“andlmdt}mam ; Where f(x) = 31 6,g(x)=x—2

. © 1; all real numbers
l“,) 3, all real numbers
Qﬁ; all real numbers except x = 2

\) -3; all real numbers exceptx=23

]
"y
11 .9
. '

AR
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Question No, 20

The range of the function f(x) v 41 s

— —
@ [1=)

# (=1
w/s-':]

-1.=)




Question No. 19

Find the domain and the range of the function f(x) ~ (x + 8)7 - 7

¢ Domamn (.8 =)range (.= =)
E#”0omamn (.= =) range | 7 =)

Domamn (-= =) range (.8 =)

Comam (.7 =jrange | .= =) »
Vev tE w

(-3, -3

D smain ~3
(=20 , =)\ -1
'P\aij_
[
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Question No. 15

| The function in the given figure is [
| Chart Area =

N

|
|

N
e}

ﬁ

wi -\

=
L1

= [ — \\

-10 -5 o0 / s 1lnl - I115= - #:u
10—
15

' increasing on the interval [0,10]

- constant on the interval [5, 5]
""'"c‘l'ecreasing on [—5,0]U[10,15]

decreasing on the interval [—9,16]
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Question No. 18

If f.(x)=£and g(x)=x+2,whatisg(f(4))?
_ ,\
j[ £ (4 » =9 (‘E{'
e S

—
===

T

Z

>
—

‘+9_¢
Y

"

Scanned By CamScanner



e

Question No. 14

i
—s i =

Thedomainof f(x)=+/4xis ]

o e

f? ({],DD) ' b
Y OR\{®) | |

bs A%/
“ [0,%0) |
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Question No. 30

xX =
| @ =1 {
- X -_—'—3- L
ﬁ —
vwx=-3
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Question No. 8

The solutlon set of the equatlon r. (2:-: +5) = *2-is
9

g0
3 {5}
|‘e‘f{5}

_,{?}

/ 'l‘l+‘5) 3 15 ('7“'2

fsou-% = 5% e

1§ ¢ —ISx =30-75
2= ~15

“‘} ﬁnﬁ?ﬂ-‘:'.‘.‘:‘.**-—-w--m—., fevesh L LEEREEY
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Question No. 19

Which is the equation for this graph?

By R TR

U y=—x*—-2x-4 c
| @ ¥ =—%24 Zri4 a L

) },__:_xz_q.
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Question No. 30

2xt1 4
The solution of the exponential equation ( )

;"éf ('3 \'uu—l (5
| _2 0 . ..6—-..

T 2'\(-{*': -)
oA =-1-
Q= ~>

~ "‘3
oA & -
7 .
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| Question No. 16

| The slope of the line x= -3 is

il
¥
i
| @ -1

\ Féf Undefined

Ik 1
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5 Question No. 28

The range of the function f(x) = —2%*1 jg

(-, 0)

0 (0, o)
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Question No. 17

Wri ; g
rite the equation of the line passes through (-5,6), and prependicular to the line x = -

O -5x+6y=-2 -—‘ + \ "
‘S(:Z‘: S \/ /‘f

s g ld!

$

e
J=€
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C ne =) (fi-ﬁ-s)
IS =Y+
¢ oL~ (')(-\—5)
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' Question No. 10

|

i The range of f(x) = ~x'is

Q (—o,—1]
© (0, )
= (—,0]
© [, «)
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Maths Sem2 Q2 2015-16

Cuestion No 16

fx)= vze2 andglr) = 3x- 5. Find k{x)= (/" g)x)
,** 1} = x‘!'I_‘-; /
W j (X) = j v
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Question No, 12 or
Give the slope of the fine 4y - 8x + 28 “D " B
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INSTRUCTION: s Pleait chooss The BUST ameet from the green Of1

Question:

Solve ‘;lh $if-151

T e A

S >

%~
V/{_m._-é}u {%.fﬂ]
o

. t"’m.bUG o) r:l_
Ly e
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Question No. 17 |

o ——

of y = 2(x - 5)*+ 3

| Find th¢axis of symme
|
-t

3
e B

Oy

O
4Dy
X
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e Gvens ons for each questwn.
‘[mulmu FION: ...t.,baf’lease chanse the BEST ‘answer fromthe gwen uptr J

‘ Ouestion:
M (x4 1) is o factor of the polynomial f(x) then

Options:

o\ yz) w;@m;\wl,

_\___

mf{(:}
L OI(1)- n
S O0)= 1
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sons lor each queston

L Ti (']
INSTRUCTION, === please choose the BEST answer kom the grven op

Question:

int Py=(2,—4).
Find the equation of the lin¢ withslopem= 7 and passes through the po

Optigns:

e Lok

=

“(x+2) j—(__.b}) _-f)_; (f)(_ F()B
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Which graph has
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tlutstmn Mo, 258

A function is one-to-one if
L —

A&w harizontal line Intersects the graph al maost once
- every vertical hne Intersects the graph twice

I iU every vertical ine intersects the graph at most once
2 every horizontal [ine Intersects the graph twice

{

|

i

/
}i
/
y
|

YITREE
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Question No. 28

|

| The range of the function f(x) = 5% is

| O (5,03)

(0, )

0 (—o0, 00)

q' [4, tﬂ)
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Question No. 18

The function f(x) = 2(x — 3)? — 3 can be written as

O f(x)=2x2-1214+6
Y f(x)=2x*-12x~ 21
CF() =203 = 12v + 15
Yo f(x) =22 - 61+ 15

{ ("¢ :2(%1_{ 7(_'.[_."‘\ -

L
LA~ [y V¥ =3
LS 2 2R L \S

e
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Question No. 19

Therangeof f(x) = 4 — x? is

L (4.%)
e 1-= 4]

LJ {_n_m]

i) [_md}
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JVQuestinn No. 3

' Ifa>b and c is a real number, then
|  —

| \
! o
f'é/b—c-::a.—-c "/

U b—c>a-—c f')

'O b—c>aq—c \/

U b—-—c<a~c ;
P\é S

s ;
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{ Question No. 10

- =

Identify the intervals where this functionis increas ing.
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Theioverseof f{x)s _-._ i - -
Dipliang: i 2

-
=[x+ §) . %
o - 1 =3
)

; I.
}lx)= —;il: -« %)

e ) =2y 5y

[ X2x s §) r\j o fl >0 _\_.6
N
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Question No. 23

—_— T — —

It x-2 is & factor of the polynomial f{x) then
- —

O f(-2)=0

Vi@ =0

|¢2ﬁ f(0) =2 < L
' P
“f0)=-2
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Solve th:s quadratlc mequahty:r: — 81 3> 0 d 3 :

SoolUBD 21

© 9<x=9

@ 9<x=9

M

< T
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Question No. 15

If fx)= ;;_:! and g{x) = ;—:—5. Find the quotient of f (x) and gfx). q
v/[‘_f‘lh]__h r15 3 & . S
| = - T
L ][ l_i?wﬁ' d"""l f)L"""‘s\
| T 4[x-2) x5
e e X HB
g w SN2
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! Question Mo, 22

If *a’ is a real number then the remainder of the division
(*+axr®+x+3)+ (x—1)is:

.

.'h..' a".'

+
td 3 Ls LW

20 a3

([ |+a 2+ aq

| [+ 2%a (5{-0‘

R ema N CD‘ET
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Question Na. 26

S Sy WS R TR N TR gy Py WS} rr=——rmmp—p = B a B Bk & o e e - =

" Let f be the one-to-one function defined by this set of ordered pairs {(-3,2), (4.5).(7.4),(10,19)}.
S

—

o -
—

L |t I g
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Question No. 21

If f(x) isapolynomial suchthat f(2) =3 then the remainder of the division
f(x)+ (x = 2) equals: e,

T
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Question No. 15

S Imp h 6’ _( a+ 1) "'i - ('3___ 1 ) o

| (32“1_) =L

!

= N UUL Sl

' 2a
J 9 _
-2 }

\0‘ "‘\_1\ '@0 -

T

L
ey
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Question No. 16

The function f(x) = x> +6x + 8 1S equivalent 10

O flx)= (x +3)°—1
@ fx)=(x=3)"1
f(x) = (x —3)*+1
flx) = (x +3)*+1
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14. If the lines 4r + 2y = —5 and 3z + ay = —2 are perpendicular, what is
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Queastion No. 1

Solve 6 <x—2 < 14

B= <16
&= < 16
8< x< 20

4 < x << 12
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Question No. 16

The function f(x) = x> +6x + 8 1S equivalent 10

O flx)= (x +3)°—1
@ fx)=(x=3)"1
f(x) = (x —3)*+1
flx) = (x +3)*+1
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Question No. 12

Find (fo g)(x), whern

B N e S—



question No 25

The Inverse of f{-'ﬂ v

Save & Next A3, b
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If f(xX)=x" —1 then f(a—1)=

' ® (a—2)a" —3a+3)
Y a—2%a” —a+1
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Question No. 16

— 3 can be written a

The function f(x) = A= 3)*-

® f(x)=2x*—12x+15
@ f(x)=2x*—12x+ 6
® f(x)=2x*—12x—721
@ f(x)=2x*—6x+15




-‘:
- 5
.

i

+ sl

Question No. 8

i f(x)=x"—1 then f(a—1)=

| @ (@a—2)(a® —3a+3)

|
® (a—2a® —a+)
® @ - 2°Wa® —3a+3)

D (a—2)a’ -3a+3)







Question No. 6

if f(x) 132 4 2x 1 then f(a+])

3a° +8a+ 4 |
B R

a +.2a |

a* +2a-1

3a’ v 2d 5



| Question No. 13

3 4
Ifﬂx) - l—'E Etl’ld g(l) o :;T

ey . 4%—2
| — X} =

| J i
\ g / 3x+5

__ Find the quotientof f (x) and g(x).
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| Question No. 11

' The slope of the vertical line that passes through the point ( 3,2) is

O 3
00
9 2
O undefined
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Question No. 15

Find the equation of the quadratic function that has a vertex at (-4,-4)and has the point (-3,-0) on is grap

f(x)=—x*—8x—-20
f(x) =—3x*+8x+ 20
f(x)=x“+8x—4
F(x)=—x? +4x—4
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Question No. 13

Ifflx) = 2 - and g{x) = - i —- Determine the domain of the sumof fx) and gix).
r— 4 X e
x € (—oo, o)
® xe (- 5) (=5 2)w 2, o)
X & (—m, —-5) Ui (2 oe)

rE (3, 2)
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The solution of
2%—1
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.ii Question No. 13

e

If fix) = —35 and g(x) = % Find the difference of f(x) and g(x)
2

X+5

g

(1—2]{x+5}

) 1
(/-g)x)=-—
x-17

- N 5 R -X+7
g- g)(l} {I‘E_][_.l'+5] I,}




Question No, 12

Bx*-5x~1







.| Question No. 13

If fix)= I—EE and g(x) = ;.% . Find the difference of f(x) and g(x)

© M) = -X+3
(f-8)x) o))

|
© -9 = -;i—?
|

& e TN
T o ey ey

© 4 = =X+23
(f g)(ﬂ E’-E_}{r+5}







Question No. 1

Solve this quadratic inequality x> —x— 20> 0

(—4.5)
(-5,4)
(—00,—5) U (4, )
(—0,—4) U (5, )
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‘ Question No. 25

Theinverseof f(x)=3x+21is

o 1
¥ (I)=§(I+2)

T 0= G+2)
[@=-1(-2)
1

f_t(-'f) = 5(1_ 2)




' Question No. 2

Solve -3(x+4)+2x<6

@ (18,x]

@ (—c0,—18]
@ (—o,—18)
? (—18,0)
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. Question No. 16

The axis of the graph of f(x) — ¥ — x + 1 is

p—
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I Question No. 23

The domain of the Inverse of F = (1

-2 AVON (412) ¢ 1.3)) Is

el D={-5_1.4.-1]
@ D={30 4 12)
B D={5 3 1, 0)

D={2 8,12, 33
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;: ‘What is the equivalent equation of x2 — 6x + 2 = () by completing the square?
| @ x—6)<+2—0
'@ -3 _11-—0

L (1—3}2 — T =10

® x+I)*—11-0
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l[ Question No. 4
] I.
I

i The solution set of the f{)HDWing equation:| 16 —5x |—2 =3 i

® {i,ﬁ}
8.5
P
147}
[11 _2__1,}

1575
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Question No. 20

| T e
The quotient of the division -

1S:

2 +3x+8
> +3x+9

2 +3x+7

2 +3x+6
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Question No. 18

The quotient of the division (* +3x2—x+1) =« (x+2) is

2

XS~y —3
X*—x+3
X°+x—3

X° +x +3
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Question No. 19
If f(x) is a polynomial such that f(1) = 6 then the remainder of the division
flx)+(x—1) equals:

® 6
1

1




Deritenn Me 13

1 fs) ! andg(s) ' Determine the domainof the product of [ () and £i%).
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Question No. 11
_JE'

ion is 3 and its y-intercepts 18

The slope of a linear funct
Which graph represents this function?

I




Question No. 24

Which of the following functions is not one-to-one

f(x)=x
fx)=—x
f (U = "u:-"?

fx)=—x"
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o (fog)x) =1 only
¢ (fog)*x
[fﬂg]{l) + 1 only

(fog)(x)-
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Question No. 25

Vx-5 .
= 1

Theinverseof f(x) =
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Cuestion Na. 22

1:-- 1 3 - - "
jiventhat f{x) = bx" + 2" + X 12, then one of the following & a factor of filx)
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Find the slope of the line through the poinis (-4,8).(2.-3)

3































Question No. &

i f(x)= :{:—] — then f(—1)=

Fx+1



Question No. 3

Determine the solution set of the following

inequality
I




Question No. 11
The slope of a linear function is 3 and its y-intercepts 15 —2.

Which graph represents this function?

[
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Question No. 14

adh(x)=(2° Hx)

r—

If f{x) = ¥x+2 and g(x) =3x—3- Fi

h(".} = 1x-rlt1t

h{x)= Judx+2—3

-F‘I{‘J-.\J = .J3x

|'-1|:‘4.1F = F'\-_-.-: &= )
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Find the domain and the range of the

@ Dnmam:{--ﬂ,ﬂ};range-{uﬂ.”}

© Domain [a?.-'}.range.{"".““}
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i pomain:{-=.*) range:[-7.”)
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Question No. 3

Determine the solution set of the following mequality

(x-1) <4
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Question No. 11

\Write the equation of the lin€ passes through (-5,6), and prependicular to the line X = -2




Question No. 15
|
|

| Identify the vertex and the y-intercept of the graph of the function y=3(x+2)°-5

.
O vertex:(2,5): y-intercept: 12 4
) vertex: (2,-5); y-intercept: 7
(o vertex:(-2,5); y-intercept: -1
o vertex:(-2,-5); y-intercept: 7




' Question No. 5

The Solution set of —[4x + 2| = 6 is

(—0, +00)
(-2,1)
0

(—oo, -2]U [1,00)
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Identify the vertex and the y-intercept of the gra b of the functi
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Question No. 2

Write x < —4 orx > 4 in interval notation

| @ (—o0, 4] U (4, )

¥ (0. —4) U4, ©)
- (__4: 4}
|—4. 4)




qQuestion No. 11

Fund the equation of the line paraliei toy = 3x—1 that passes through the point (0. 5)



qQuestion No. 19 :
emainder of the difiﬂiﬂﬂ

(2] ol 3 mmihﬂr

i f(x) i apolynomial such 0 i

flx)= (- 2) equals:
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Question No. 156

If fxy=

— and g(x) = Y. Find the quotientof [ {x) and g1x).
L X
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(NS THUCTTON: Glahe Please choose the BEST answer from the given options for each question.

uesston:
If (x4 1) 15 a factor of the polynomial f(x) then

Chpptacnnisi:

@1(-1)=0
RTL0 )
W1(1)=0
GO0 1
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GQuestion No. 17

| Find the equation of the quadratic function that

@ f(x)=—x*—8x—20
® f(x)=x"+8x—4

v f(I)=—3II+‘E:-:+2D
@ fla)=—x*+4x—4%

has a veriex at (-4.-4)

and has the point (-3.-5)on fis graph
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Question No. 17

4 :IH:.:I 5

Eind the equation of the quadrat

f(x)=x + 8x — 4
flx) 2v2 4+ 8x + 20
| flx)=—x" +4x—4
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Question No. 3

If a>b and c is d real number. then
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Question No. 8

If /(x)=3x"+2x—1 then f(a+1)=
3a‘ +2a-1
a1

a+2a8"% -1

3a° +8a+4



The equationofthe given line is

— =X - 1
= 2%+ 1

Y
V= -2% + 7 -
y=2%x-3




Question No. 11

Which graph has a positive slope?
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Question No. 19

The range of f(x)
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Question No. 9

BTG =(x-1) then f(a’)=

:
3a“ +2a—-1
a +2a—-1
{?E — Eﬂ'j + 1

5
a +a+?2
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Question No 10

Therange of f(x)~ —x? is












]-. 1€ fix) = —%x-k'l,thzdnm:iﬂnff_lix} is
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Question No. 17

Find the axis of symmefry of y = 2(x —
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Question No. 22
| =

- If*a’ is a real number then the remainder of the division
{x*+ax2+x+3)+(x— 1) is:

& a+3
3 asd
@-a+2

a4+ 3
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Find the equation of the quadratic function tha

t has a vertex at (-4, -4)and has the point (-3,-5) on its graph.

| ® f(x)=-—x*—8x—20
|9 Jix)=x"+8x—4
@ f(x)=-3x*+8x+20
1@ flx)=—x"+4x—1
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Question No 7

—

The Solution setof 2|y - 7]< 28 is

9 (o, -Tu[21,m)
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¥ (-ﬂ.u)
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Question No, 29
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O Constant
® Decreasing
& Increasing
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Question No. 18

The axis of the graphof f(x) = x* —x + 1 is
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Question No. 25

A function i onedo-one If

e —
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s

=B VEery harizontal line intersects the graph al most once
& every verticalline intersects the graph twice
¢ Every vertical line intersects the graph at most once

¢ EVETY horizontal line intersects the graph twice










Question No. 11

Which graph has a positive slope?
| 4 [l







. The Solution set of -2x-71<-28 s
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Question No. 3

it a>b and c is 3 rea] number, then

assom@ @ =4 , p=3 C=]
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Question No. B

If f(x)=3x"+2x—1 then f(a+1)

1 [ §Coa) = 3 (an) + & (ar1) —|

3a‘ +2a-1
a’ +2a-1 | = 3 (o yratl)+ o+ —|

: L9 . -
e — & +ba +3 + 2o x|
3a’ +8a+4
—

= (X +ba +Y
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The equationofthe given line is
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Question No. 29
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| The graph of £ () =_-(§)xis
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(M13) (m+6) = ¢
- mdh‘m:ﬁ mz'—r §m +5m +3%0 = §

L
" +ilm 424 =0

™M+ §
m +9

o (m+8)(m +'5) =0
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